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How long does a journey take?

e.g. Fred sets off on a journey. He leaves
Epsom station on the train at 7:10 a.m.
His journey starts at 7:10 a.m.

The train arrives at Waterloo station at
7:52 a.m. His journey ends at 7:52 a.m.



How long was Fred’s journey?

out how many minutes have passed from the start of
the journey to the end of the journey.

Fred’s journey started at 7:10 a.m.
His journey ended at 7:52 a.m.

How many minutes do we have to count on from
7:10 to get to 7:527



Count the minutes?

42 minutes

7:30

We have counted on 42 minutes from the start of Fred’s
journey to the end of Fred'’s journey.



Count the minutes?

E.nd L Start time
Lo 7:10

7:52-7:10=
42 minutes



Work out how long these journeys take.

DSCO JI .
Wimbledon 07:30
Clapham Junction 07:40
Waterloo 07:50

How long does it take to get from Leatherhead to Epsom?
How long does it take to get from Wimbledon to Waterloo?

How long does it take to get from Epsom to Waterloo?



What if the hours are different?

Fred sets off on another journey and leaves
Dorking station on the train at 9:50 a.m.

The train arrives at Waterloo station at 10:30 a.m.



What if the hours are different?

10am (9:60)

_ . 10 mins
Start time 09:50 _ 30 mins +
mins
40 mins
30

mins

End time 10:30



What if the hours are different?

9:50am — 10:00am = 10 minutes
10:00am — 10:30am = 30 minutes +

40 minutes



Work out how long these journeys take.

psom 07:
Wimbledon 08:15
Clapham Junction 08:25
Waterloo 08:35

How long does it take to get from Leatherhead to Wimbledon?
How long does it take to get from Epsom to Waterloo?

How long does it take to get from Leatherhead to Waterloo?



Another way of solving the problem?

Start time 09:50 gg mins
10:50 S L e
=40 mins

Add on 1 hour
(60 mins)

End time 10:30



Another way to calculate the
duration of a journey?

9:50am— 10:50am = 1 hour (which is 60 minutes)
(Adjust) 10:50am — 10:30am = 20 minutes -

40 minutes



Journeys over one hour
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count on whole hours from the start time.

You can then, either:

1. add on minutes to arrive at the end time (as
in the first method), or

2. subtract minutes to arrive at the end time.



Journeys over one hour

Adding minutes

arrives in Manchester at 11:40.

| count on whole hours from 08:30.

09:30... 10:30... 11:30
I’'ve counted on 3 hours.

| then count on another 10 minutes to take me to
11:40.

Therefore my total journey time is 3 hours 10 mins.



Journeys over one hour

Taking off minutes

| count on whole hours from 07:50.

8:50... 09:50... 10:50
I’'ve counted on 3 hours.

To get to the arrival time, | then count back 20
minutes to take me back to 10:30.

Therefore my total journey time is 2 hours 40 mins.



Work out how long these journeys take.

Milton Keynes 08:05
Coventry 08:30
Crewe 09:25
Manchester 10:15

How long does it take to get from London to Coventry?
How long does it take to get from London to Crewe?

How long does it take to get from London to Manchester?



